ALGEBRA I EXAM 1.2 Part II
                   Solve the equations:

1. 10p – 36 = -86








(2 points)
 14

2. 7 – 3y + 2y = 4








(3 points)
        20          5
3. 1 = 5x + 3x








(3 points)
8     4     16

4. 6a – ⅓(108 – 19a) = -a + 9






(3 points)
5. 2(g – 8) – g = 3(g + 2) – 2g – 19






(2 points)
6. 3|x + 4| + 6 = 9x








(3 points)
7. |y| + 1 = -4








(2 points)
5

8. Solve for f:
1 + 1 = 1






(2 points)
                          u    f     v
9. Solve for d:
G mn = F






(2 points)
                               d2
10. Solve for d: 1 – d = 2a







(3 points)
                       d        3

11. Ten years from now, the sum of the ages of a woman and her daughter will be 80 years.  The difference in their present age is 48 years.  How old is the daughter?

(3 points)
12. Find 3 consecutive even integers whose sum is 48.



(3 points)
13. You purchase 8 gallons of paint and 3 brushes for $152.50.  The next day, you purchase 6 gallons of paint and 2 brushes for $113.00.  How much does each gallon of paint and each brush cost?
(4 points)
14. Write an equivalent expression for (a)
(w2 – w + 1) – 3w(2w2 – 3w + 99)
(3 points)




    (b)
(x – y + 3)(y + 1)


(3 points)
15. Compute the Federal Income Tax in 2013 for a married couple with three children making $181,700.








(3 points)
[image: image1.png]Exemption Deductions for Tax Year 2013

e g
Single $3,900
Married $7,800
Married with 1 child $11,700
Married with 2 children $15,600
Married with 3 children $19,500

Standard Deductions Based Upon Filing Status for Tax Year 2013

Filing Status Standard Deduction
Single $6,100
Married filing jointly $12,200

Federal Income Tax for Married Filing Jointly for Tax Year 2013

Iftaxable income is Plus the
over: But not over: The tax is: Marginal Of the amount over:
Rate
$0 $17,850 10% $0
$17,850 $72,500 $1,785.00 15% $17,850
$72,500 $146,400 $9,982.50 25% $72,500
$146,400 $223,050 $28,457.50 28% $146, 400
$223,050 $398,350 $49,919.50 33% $223, 050
$398,350 $450,000 $107,768.50 35% $398,350
$450,000 + $125,846.00 39.6% $450,000






16.
Write the equation for each line.





(4 points)




(a)





(b)
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 (c)
A line that passes through the points (-5,4) and (4, 5).





17.
Justify each of the 9 steps of the flow diagram with either the commutative property (C+, Cx), 

associative property (A+, Ax) or the distributive property (D).

(9 points)
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Questions 18-20 are Multiple Choice.  Only write the letter choice of your answer.                                                   (3points)[image: image5.png]18. Jim sells mobile phonesand tablets. Jim must earn at least 53,000
per month. He earns s30 profit for each mobile phone and s50 profit for
each tablet. He has space in his inventory foronly1oo total items and
must have at least 20 tablets. Let x represent the number of mobile
phones Jim sells and y represent the number of tablets Jim sells

Which system of linear inequalities represents the solution set to Jim's
ituation? (Ax.A.RELD.7)
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[image: image6.png]19- The formula for the perimeter of a rectangleis written.
P=2(l+w)

What is the value of w, in terms of P and [ ? (A1.A.CED.A.4)

Al l-w
P

Bl -21=-w
P

cl-w
b




[image: image7.png]20. Thesolution -3<x < 6 is the solution set for which
compound inequality? (Az.A.RELB.2)

A -7 =x—4<2x-2
B.6 =x+3<9
C4=<x+1<2x-5

D.-5=x-2<4




BONUS: The flow diagram form question 17 can be amended as seen below.  Justify each of the 
additional 3 steps (BONUS i, BONUS ii., BONUS iii) of the flow diagram with either the commutative property (C+, Cx), associative property (A+, Ax) or the distributive property (D).
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